Review

Review Problems, by request

e Polar forms of complex numbers
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e For any real number R, R = Re®™ = Re*™ = Reb™ etc.



Solving Roots using Polar Form

Find all solutions.

e 3=1
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Solving Roots using Polar Form

Find all solutions.
27 - 47 -
e 23=1 {1, es’, e?’}
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215 — 100
{1\5/100 1¥/100es’, '¥/100e%’ ¥/100e%, - 1\5/100e2%"}

e 7/ =3

e 4 +222=0



Solving Roots using Polar Form

Find all solutions.
27 - 47 -
e 23=1 {1, es’, e?’}

o 25 =132 {2 2e%i 201 2% 2e%”'}

215 — 100
{1\5/100, 1¥/100e/, ¥/100et!, ¥/100eh’, .- 1\5/100e21i§"}

21 —

=3
{\7@ V3eTi 3Tl V3eTi /3Tl V3e'r \ﬁe%ﬂ’}

e 4 +222=0



Solving Roots using Polar Form

Find all solutions.
27 - 47 -
e 23=1 {1, es’, e?’}

o =132 {2, 2e2?ﬁ", 2e%i, 2e65j", 2e8?ﬂ’}

e 215 =100
{1\5/@7 me%iﬂ We%i: me%i;"' ) me%i}
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{\7/5, V3eTl, V3T, /3eT!, 3eT!, V3e' T, \%e%ﬂ}

o 2422220 (0.2, Vi) = {0,v2e? V3 )






























